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I remember only a few models which I am giving here.
1.) How old will C be after 10 years? Statement 1: Five years ago the average of A and B 
is 15 years. Statement 2: Average age of A, B and C is 20 years now.
a) Statement 1 is sufficient to answer but statement 2 alone is not enough. b) Statement 2 
is sufficient to answer but statement 1 alone is not enough. c) Statement 1 or statement 2 
is alone sufficient to answer. d) Both statement 1 and statement 2 are not sufficient to 
answer the question. e) Both statement 1 and statement 2 are together sufficient to answer 
the question. Ans: e

2.) What is the ratio between two numbers? Statement 1: The sum of two numbers is 
twice their difference. Statement 2: The smaller number is 6. Ans: a
Options are same for all these type of questions.
3.) The sum of ages P, Q and R is 96 years. What is the age of Q? Statement 1: P is 6 
years older than R. Statement 2: The total of ages of Q, R is 56 years. Ans: e
4.) What is the cost price of the article? Statement 1: The profit earned is one-third of the 
cost price. Statement 2: The article is sold for Rs.400. Ans: e
5.) A and B are in a partnership business of one year. At the end of the year, a profit of 
RS.20, 000 was earned. What is A’s share? Statement 1: A invested Rs.50, 000. 
Statement 2: B withdrew his capital after 8 months. Ans: d
6.) A and B together can complete a task in 7 days. B alone can do it in 20 days. What 
part of the work was carried out by A? Statement 1: A completed the job after A and B 
worked together for 5 days. Statement 2: Part of the work done by A could have been 
done by B and C together in 6 days. Ans: a
7.) How much time did X take to reach destination? Statement 1: The ratio between the 
speeds of X and Y are 3:4. Statement 2: Y takes 36 minutes to reach the destination. Ans: 
e
other questions can be answered very easily.


